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THE NATIVITY OF QUEEN VICTORIA.
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EXAMPLE.

"When will the M. C. form a conjunction of Jupiter in Victoria’s nativity ?
The Right Ascension of Jupiter is 319° 38’
The Right Ascension of the Mid-heaven 301 8

18 30

EXEBCISES.

1. Find the conjunction of Jupiter to the Medium Coeli. Ans. 18 30."
2. What is the arc of M. C. to the conjunction of Saturn? A ns. 53° 33".
3. What is the arc of the M. C. to the body of Mars? Ans. 75°31.

Problem 1i.

104 To direct the M. C. to a Semisextile of any Planet above
the Earth.

Rule— Take the difference between the Planet's Meridian Dis-
tance and one-third of its semidiurnal Arc.

EXAMPLE.

Jupiter’s semiarc is 68° 18', and one-third of thisis 22° 46’
Jupiter’'s Meridian Distance is to be subtracted = 18 30

Arc of the M. C. to semisextile of Jupiter = 4 16

Kote— When the Planet falls between the 10th and 1st Houses
this direction is a sextile to the Ascendant in all figures. Hut if the
Planet is between the 7th and 10th, then it is a trine to the Asc.

EXERCISES.

1. How far is Saturn from the 6emisextile of the Midheaven?  Ans. 29° 51",

2. Find Mars's semisextile to the Midheaven. Ans. 43° 6.

3. How far is the Midheaven from the semisextile of the Planet Venus ?
Ans. 50° 38"

Problem lii.

105. To direct the M. C. to a semiquintile of a Planet above
the Earth.

R ute—Take the difference between the Planet s Meridian Dis-
tance and two-fifths of the Semi-diurnal Arc for the Arc of Direc-

tion.
EXAMPLES.

1. What is the arc of the M. C. to a semiquintile of Jupiter ?
Jupiter’s semi-diurnal arc is 68° 18' and two-fiftlis are 27 11
Subtract Jupiter’'s Mid. dist. 18 30

M. C. to the semi-quintile of Jupiter — 8 41
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2. What is the arc of the Midheaven to the semi-quintile of Venus ?

Venus's Meridian distance is 84° 14’
Venus's semi-diurnal arc is 100° 48', and two-lifths are 40 21

The M. C. to the semi-quintile is arc — 48 A3

Problem liii.

106. Tofind the arc of M. C. to the nonagon ofa Planet.

R ute.— Take the difTerence between the Planet’'s M. D. and four-

ninths of its semi-diurnal arc, and the remainder is the Arc of Di-
rection.

EXAMPLE.

What is the arc of the M. D. to the tumagon of Jupiter ?
Jupiter’s semi-diurnal arc is (580 18', and four-ninths is 2i)° 3’
Subtract Jupiter’'s Mid. dis. 18 30
M. C. to the nonagon of Jupiter — 10 33

These are worked the same as the foregoing Problems, only care

must he taken in getting out the four-ninths of the semi-diurnal
arc,

Problem 1liv.

107. To direct the M. C. to the semi-quartile of a Planet.

R ute.— The Planet must be above the Earth, and the difference
between half the Planet’'s semi-arc diurnal and its Mid. diet, is the
Arc of Direction.

Note.—If the Planet falls between the 10th and 1st houses, this
arc is the semi-square of the Asc. If the Planet lies between the
10th and 7th houses, this arc is the sesquisquarc to the Asc. (218).

EXAMPLE.

What is the arc of the M. C. to semisquare of Jupiter P
Jupiter’'s semi-diurnal arc is (j8° 18', the halfis 34° 9
Subtract the Mid. dist. of Jupiter 18 30

M. C. to the semisquare of Jupiter = 1A 39

N. R. Thi8 is thé semisquare of thé Ascendant to Jupiter, as it
falls between the 10th and Ist houses. llerschcl semisquare M. C.
vili he thé sesquisquare of Ascendali/.

EXEHCISES.
1. Find theé are of tin* midheavon tu llio semisquare of Mars. A tu 26° Al'.
2. What is the are of the semisquare of Mercury to thé Midheaven P
Ans. 43» A3'.
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Problem 1v.

'108. To direct the M. C. to the sextile of a Star.

P ute.

The Star must be above the Earth, and the difference be-
tween the Star's Mid. Dist. and two-thirds of its semi-diurnal are is
the Arc of Direction. (207).

Observe, Any Planet brought to the cusp of the 12ih or 8th houses
will be the M. C. to sextile of that Planet.

EXAMPLE.

What is the arc of the 51. C. to the sextile of Jupiter ?

Jupiter’s semiarc is G8 18', and two-thirds = 45° 32"
Subtract Jupiter’s 5leridiau distance 18 30

M. C. to the sextile of Jupiter = 27 2

EXERCISES.

1. Find the Midheaven to the sextile of Venus. Ans. 17° 2"
2. What is the arc of Midheaveu to the sextile of Mercury ? Ans. 26- 33".

Problem 1vi.

109. To direct the M. C. to the quintile ofa Star.

Rule.—Take the difference between four-fifths of the Star's semi-
diurnal arc and its Mid. Dist. for the Arc of Direction.

N ote.—For this direction the Star may be bclon the Earth, but
then it must be taken with semi-diurnal arc, and its Mid. Dist. must
also be taken from the 10th house, and this can be found by subtract-
ing its Mid. Dist of the 4th house from 180 degrees. This jnust be
particularly attended to.

EXAMPLE 1.

For Jupiter in the Queen’s Nativity above the Earth.

Jupiter’s semi-diurnal arc is 68° 18', and four-fifths “ 54° 39’
From which subtract his Mid. Dist. 18 30

M. C. quintile of Jupiter = 36 9

EXAMPLE 2.
Find the quintile of the Sun.

Till' Sun is behnc the Earth, consequently his Mid. Dist. has been taken from the
4th, subtract his Mid. Dist. 61° 8' from 180° and there remain 118° 52 from the
10th house.

Here Sol's Mid. Dist. from the 10th = 118° 52'
His semi-diurnal arc 118° 14', and four-fifths = 94 36

51. C. to the quintile of Sol = 24 16
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EXERCISES.

1. 'What i the Midheaten to the quintile of Mercury ? Ant. 12° 21"
Whut id the arc of the Midheavun to the quintile of the Sun = Ans. 24° 16«

Problem i.vii.
110. To direct the At. C. to the square of a Planet.

R ute.— The difference between the Planet’'s M. D. and the rehole
semi-arc is the Arc of Direction.

Noth. If the Planet fall between tbe 10th and 2nd eastward, this
aspect is a conjunction to the Ascendant; but if it fall between the
10th and 6th westward, then the arc thus found is the opposition to

the ascendant.
EXAMPLE.
Find the square of M. C. to Jupiter.
Jupiter’s semi-arc is 68° 18'
Jupiter's M. D.is 18 30

M. C. to the square of Jupiter — 49 48

EXERCISES.

1. What is the arc of the Midheaven to the square of Mercury? Ans, 8° 8".
ii. What ia Herachel's are to the square of the Midlieaveu ? Ans. 18>32".

Problem 1viii.
111. Todirect the At. (J. to a trecile of any Planet.
R ute.— The difference between the Star's M. D. or 10th house and
six-fifths of its semi-diurnal arc for the Arc of Direction.
Note — If the Planet fall between the 10th and 1th westward this

is a quintile to the Ascendant.
EXAMPLES

1. Tak. Jupiter’» for example.
Jupiter’» semi-diurnal arc is (18° 18’, and six-fifth» — 81° 57*
Subtract Jupiter’s distance from M. C. = 18 30
= 63 27

The M. C. arc to the trecile of Jupiter =

2. What is the arc of the Midheaven to the trecile of Mercury P Ans. 28° 56'.
Found as follow»:
Mercury’» semi-diurnal aro is 104° 3’
which is divided >y 5)104° 3'
add them 20 48 is one-fifth.

The amount is the six-fifths — 124 51
Take Mercury’s Mid. Dist. 95 55

Itcmains the arc of direction ~ 28 50 the M. C. trecile
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PROBLEM LIX.

112. To direct the. M. C. to the trine of any Planet.

R ute—If the Planet be above the Earth add one-third of its semi-
nocturnal arc to its whole arc, from which subtract its M. D. and the
remainder is the Arc of Direction : or, add one-third of its semi-
nocturnal arc to the square already found, and the sum will be the
Arc of Direction.

EXAMPLES.

The whole semi-diurnal ore of Herscher iss 56° 06r
His semi-twctuvual arc is 123°4', and one-third is- 41 t

97 .7?
From which subtract his M. D. 38 24

M. C. to the trine of Herscliel 59 33

Secoiul tray.

The M. C. to the square of Herscliel is 1S° 32’
Add one-third of semi-nocturnal arc 41 1

M. C. trine of Herscliel bj the second way 59 33

| f originally under the Earth.

R ule—Take the difference between two-thirds of its semi-noctur-
nal arc and distance from 4th cusp, and the remainder is the arc of
direction.

EXAMPLE.

The Sun under the Earth.
Pol's Mid. Hist, from‘1. C.is 61° 8'
His semi-nocturnal arc is <61° 4(j', and t«o-thirds = 41 11

M. C. to the trine of the Sun = 19 57

N B.—In the former of these two Examples llerschel is brought
to the cusp of the 6th, which forms a quincunx of the ascendant,
which is always the case if the Planet is posited between the 10th and
4th rrestrvard. But if between the 10th and 4th eastward, the trine
is a semi-sextile to the ascendant, or sextile to the 4th house or I. C.,
and it is also the Planet’s distance from the 2nd house.

PROBLEM LX.
113. To direct the M. C. to the sesquisquare ofany Planet.

Rule.—K above the Earth add one-half of the semi-nocturnal arc.
to the whole diurnal, from which subtract the Planet's M. D. _
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EXAMPLE.

Mercury’» wliolo-seial-UTmrnal «<rei» 104° 3*
Semi-nocturnal are is 75° 67 tin; one-halfis 37 63

142 1
Subtract Mercury's M. D. 95 55

M. C. to the sesquisquare of Mercury 4ti 6

A second nay.

Rule—Add one-half of the Planet's semi-nocturnal arc to the
square, uiid the sum is the arc of direction.
EXAMPLE.
Mercury'» square to M. C. i» 8° 7
Semi-diurnal arc is 75° 57', the one-halfis 37 58

M. C. sesquisquare of Mercury a» before 46 6

A third may.

Rute.—If in the 2nd subtract one-sixth of the semi-nocturnal arc
from the trine, or if it is in the .5th add one-sixth of the semi-noctur-
nal arc to the trine, and this is a sesquisquare to the ascendant.

EXAMPLE.

M. C. trine of Mercury is 33° 27'
Mercury’s semi-nocturnal arc is 75° 57' and one-sixth = 12 39

M. C, sesquisquare of Mercury = 46 6

Another may.

R ute.— If originally below the Earth, the difference between one-
half of its semi-nocturnal arc and its M. D. is the arc of direction.

N ote.— Let this direction be found between the 7th and 4th, it will
be the sesquisquare to both the M. C. and the ascendant. It is also
one-half of the semi-nocturnal arc of the square of ascendant, or op-
position of M. C. (Art. 219). When formed between the Ascendant
and 1th, it is a semisquare to the ascendant.

Problem xli.

114. To direct the N. C. to the biquintilc of a Planet above the
Earth.

Rute—Add three-fifths of the Planet's semi-nocturnal arc to its
whole semi-diurnal arc, from which stun subtract its M. 1).
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EXAMPLE.

Thus, Herschel ligvintilc to M. C.

The whole of his semi-diurnal arc 56° 56
Histerm-nUiAunuxlarc 123° 4 'and three-Kftos=74 52

131 48
Subtract Herscliel'’s M. 11. 38 24

31. C. liquinZilc of Herscliel 93 24

Originally below the Earth.

Rule 1.—If between the 4th and 7th, then add one-tenth of the
rcmi-nocturnal to the sesquis prnre first obtained, and the sum is the
are o fdirection.

Rute 2.—If between the 1st and 4th subtract one-tenth of the
semi-nocturnal arc from the sesquisquare, aud the remainder will be
the arc o fdirection.

EXAMPLE.

Tlie Sun to lu/uidile of M. C. in the Queen’s nativity.

The M. C. to si sq'iisiinart* of Sol 3 > 1V
Subtract one-tenth of 61° 4G' fi 11

M. C. biquintile of the Sun = 24 4

Problem Ixii.

115. To direct the .1/. C. to the quincunx ofa Planet when tinder
the Earth.

R u1e.— Add one-third of the semi-nocturnal arc to the trine first
found, or two-thirds of the semi-arc to the square, and the sum will
be the arc ofdirection; or the difierence between one-third of the
semi-arc and its M. D.

Note__If the Planet fall between the 10th and 4th, this is a sextile
to the ascendant; but if it fall between the 7th and 4th, this aspect
is a trine to the ascendant.

EXAMPLE.

Sol's scrni-tioc'umal! arc is GL 46 , ami two-thirds = 41° 11
Add M. C.O, or AX. d ofSol 0 37

M. C. quincunx of the Sun — 41 48
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Problem LXIII.

116. To direct the M. C. to the opposition of a Planet under thee
Earth.

Role.—The difference between the Planet’s flight Ascension and
the A. R. of the 4th house, or I. C. is the arc of direction.

Note.—This is the Star's nocturnal Mid. Dist., which is also a
square to the Ascendant.

EXAMPLE.
Find the M. C. opposition of the Son.

Bight Ascension of the I. C. = 121° 8’
Sol's Right Ascensionis GO 0

The M. C.<5>0f0O, or Asc. 0, or© »™M . D. Gl H

OBSERVATIONS.

117. Whenever an aspect is measured between two planets, any
other aspect may be ascertained, if it fall in tbe same hemisphere, by
merely taking the relative proportion of the semi-are (Ar. 218) of the
planet to be directed. Thus, if we know the distance between two
planets, that is, tho arc of direction to the conjunction ; then one-half
of the semi-arc of the planet which is directed, added to that, will give
the arc of direction to the temi-quartile; (219) by adding one-sixth
part of the semi-arc to this we have the arc of direction to the scxtile;
one-third more of the semi-arc will give the square, and another third
the trine : to which add one-sixth for the sesqui-quadrate, &c.

118. To direct the Midheaven to the opposition of a star, bring it
to the cusp of the 4th house; to the trine, bring it to the 2nd or (ith
house; for the quartile, to the Ascendant or seventh ; to the scxtile,
it must be brought to the cusp of the 12th or 8th : the sesqui-quadrate
falls in the middle of the 2nd and 8th houses. All aspects in mundo
are measured by the semiarc of the prornittor, (Ar. 221).

EXAMPI.ES.

We will direct the San to the different aspects it will fonn with the M. C .; if we
subtract his distance from tho Imum Cadi ¢1°9' from his semi-arc nocturnal 61° 46’
we have his distance from tho cusp of tho 1st 0° 17', which is tho arc of direction,
M. C. Q Q ; as tho next aspect falls above the Earth, we must use his semi-diurnal
arc, which is 118° 14', one-fifth of which is 23° 32", which add to the distance helow,
the first produces 24° 16' tho arc of direction of M. C. Q. © . add two-fifths more of
tho Sun's space of a house 39° 25", two-fifths of which is 1/>° 46'

Add tho other arc of direction 26 16

Tho arc of direction M. C. # © mundo 40 2
Add half tho space of a house 19 42

And we have arc of direction M. C. SQ © mundo M 44
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TO DIRECT THE ASCENDANT IN MUNDO.

Problem 1Ixiv.

119. To direct the Ascendant to the conjunction ofany Star.

R ute.— The Planet must be between the 4th and 10th eastward,

mthen the difference between its semi-arc and Meridian distance is the
Arc of Direction.

EXAMPLE.
Mercury above the Earth, hi* semi-diurnalarc 104° -3

Subtract Mercury’s Mid. distauce 9% 55

Ascendant to the conjunction of Mercury 8 8

Observe—This is Mercury’'s square of the M. C.; had Mercury
been in the 4th, then it would have been in opposition to the M. C.

EXERCISES.

1. What is the arc of Mars to the conjunction of the Ascendant ? Ant. 21°51".
2. Bring the Sun to the cusp of the Ascendant? Ans. 0° 37"

Some Professors will undoubtedly object to Mercury, Mars, and
similar positions being brought to the cusp of the Ascendant; the
reason 1 use that method is, because | have jtroved it to have very
powerful effect; therefore, | unhesitatingly adopt similar directions.

Problem 1Ixt.

120. To direct the Ascendant to the semi-sextile of a Planet.

Rule.—When above the Earth the sextile to M. C. is the Arc of
Direction ; if below the Earth, the trine of M. C. to that Planet is the
Arc of Direction.

Another R u1e.—Bring to the cusps of the 12th and 2nd for the
Arc of Direction by Problems 46 and 47.
EXAMPLES.

Mars’s icmi-sextilc Ascendant.

Mars's Mid. distance 75° 34'
Mars's semi-arc is 97° 25', and two-thirds = 64 57

Ascendant to semi-sextile of Mars 10 37
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Ascendant to aeini-soxtile Sol.
Sol's Mid. distance 61° 8’
Sami-nocturnal arc 61° 4(>, and tsvo-third« rrz 41 11

Ascendant to tie semi-sextile of Sol 19 &¥

As these directions are so simple | need not work any more ; be-
cause, while working the Midheaven to aspects, most of the Arcs of
Directions to tho Ascendant are obtained.

Problem 1Ixvi.

121. To direct the Ascendant to the semi-square ofany Planet,
any rvhere between the 10th and 4th eastward.

Rute.—If it fall between the 10th and 1st, its semisquare is the
semisquare to the M. C. If it fall between the 1st and 4th, the sesqui-
square to the M. C. is the Arc of Direction.

These need no example.

P roblem Ixvii:
122. To direct the Ascendant to the sestile ofany Vianet.

Rule 1.—Jf above the Earth, bring the Planet to the cusp of the
11th ; or, the difference between one-third of its semi-diurnal and its
M. D. is the arc of direction ; which is the M. D. semisextile of the
6tar.

Rule 2.—If below the Earth, bring it to the cusp of the 3rd house;
(96) or, the difference between one-third of its semi-nocturnal arc
and its M. D. is the Arc of Direction; which is the M. C. to gx. of
the Planet. Or,

Rule 3.—If below the Earth, subtract one-third from its square to
the Ascendant. If between the 1st and 10th, subtract one-third of its
semi-diurnal arc from the conjunction of M. C, and the Planet, and
the remainder is the Arc of Direction.

EXAMPLE.

Mercury’s conjunction of M. C. O 55
Mercury’'s semi-urc 104u.T, and one-third r= 14 41

Ascendant to the sextilo of Mercury “ 61 14

Problem Ixviii.
123. To direct the Ascendant to the quintile ofa Star.

R ule.—The difference between the Planet's M. 1), and one-fifth of
its semi:arc, either above or below the Earth, is the Arc of Direction.
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EXAMPLES.
Mari's Meridian distance is 75° 34’
Mars s semi-diurnal arc 97° 23, and one-fifthis 1!) (9

Ascendant to the quintile of Mari 56 5

Herschel's nocturnal Mid. distance 38° 24’
Herschel’'s semi-arc 123° 4 , and one-fifth is 24 57

Ascendant to quintile [Icrschel 13 27

Problem Ixix.

124. To direct the Ascendant to the square of any Planet.
Rute.— The Planet’'s Meridian Distance, either above or below the
Earth, is the Arc of Direction.
EXAMPLE.

Right Ascension of Midheaven 301° 8’
Herschel’'s Meridian Distance 262 44

Ascendant square Herschel 38 24

P roblem 1xx.
125. To direct the Ascendant to the trine of any Planet.

R ute.— If between 1st and 4th, or between 1st and 10th, edd one-
third of the semi-arc to the M. D .; but if between the 7th and ItIn
or 10th and 7th, subtract one-third for the Arc of Direction.

EXAMPLE.

Sol's Mid. distance is 61° 8
Sol's semiarc is 61° 46', and one-third of thisis 20 35

Ascendant to the trine of Sol is 81 43 the Are.

Problem 1xxi.
12C. To direct the Ascendant to the sesquisquare of any Planet.

R ute.— If the Star be originally between the 10th and 7th, or 7th
and 4th, the difference between its M. D. and half of its semi-arc is

the Arc of Direction.
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EXAMFLE.

A«Cendant sesquisquare of Horschel.

Herschel's Mid. distanco is 38° 24’
Semi-arc is 50° 56', tlie halfis 28 28

Ascendant Besquisquare Hérschel 9 56

Problem IxXxii.
127. To direct the Ascendant to the biquintile of any Planet.

R ute.— If between the 12th and 10th add three-fifths of its semi-
arc to its M. D.; from the 10th to the middle of the 8th, subtract
two-thirds of its semi-arc from its M. D. ; if between the middle of
the 8th and cusp of the 7th, add one-tenth of its semi-arc to the ses-
quisquare for the Arc of Direction.

Rute 2.— If it fall in the 5th house, subtract one-tenth of semi-
nocturnal arc from the sesquisquare of the M. C. for the Arc of Di-
rection.

Note.—A Planet, to form a biquintile aspect to an angle, must be
further distant than the sesquiquadrate by one-tenth of its whole
semi-arc.

EXAMPLES.

What j» tho Ascendant to the I,jquintile of Jupiter ?

Jupiter between the 12tli and 10th, the three-fifths of 68° 18' his semi-arc is
41° O, add his Mid. distance 18° 30', equals 59° 30, the Arc. Or, tca/mUy,

His sosquisquaro is 52° 39', then add to this one-tenth of his semi-arc which is
6151', thu amount is 59° 30’, the Arc, as before.

P roblem 1Ixxiii.

128. To direct the Ascendant to the opposition ofa Planet.

Rule.—The Planet must bo between the 10th and 4th westward ;
then the difference between the M. D. and its semi-arc is the Arc of
Direction.

N. Il.—The shortest way is to find one direction to the Ascendant
or M. C., and then add or subtract the portion of the Planet’'s semi-
arc to find the others.

We will direct Jupiter to tho different aspects of the Ascendant and M. C., and
tho Ant is the quintilo to the Ascendant; if wo take Jupiter’'s distanco past tho

11th, 4' 16'from two-fifths the spaco of his house 22° 46'— two-fifths are 9J6',
remains 4° 50, the Arc of Direction Asc. Q. 0.
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Hi* Mer.distance 18° 30' is the Arc of Direction Asc. O 0, it

is also M. C. (50 add to his Mer. distance 18° 30"
The space of Jupiter's house 22 46

Vie have Arc of Direction Asc. A If M. 41 16
Again, add half the space of a house 11 23

Gives Arc of Direction Asc,sesqni-Q If and M,C. A It 52 39
Add to this one-tenth ef Jupiter’'s whole arc 6 50

Gives Arc. of Direction Asc.D. Q. If M. 59 29

ZODIACAL ASPECTS.

TO DIRECT THE M. C. AND ASCENDANT TO ASPECTS IN THE ZODIAC.
PROBLEM LXXIV.

129. To direct the M. C. to aspects of Planets.

R ute.—The difference between the A. R. of the aspect without
latitude and the A. R. of the M. C. is the Arc of Direction.

EXAMPLES.

1. Direct the M. C. to the O of 0 zodiac.

Thed ofQ fallsin 2 6, its R. A. is 334° 7’
Subtract the R. A.of M. C. 331 8

Remainderis Arcof Direction M. C. O Q zod. 32 59j

2. The Midheaven to the teaiilc of Mars.

The sextile falls in 26 35, its R. A. 328° 50'
Subtract the R. A. of the Midheaveu 301 8

Arc of Direction of the M. C. # c¢? in zod. = 19 42

M.C. d of If., the conjunction falls in 16 57, its Il. A. is 319° 26", from which
take 301° 8', Arc 18° 18'.

M. C. # 0, the sextile fallsin 2 '|° 6, its R. A. is with 360°, and as the aspect
and the M. C. are in different hemispheres 361° 55', take 301 8', Arc of Direction
is 60° 47".

PROBLEM LXXV.

130. To direct the Ascendant to aspects in the Zodiac without
latitude.

R ute 1—Find the declination of the place of aspect without lati-
tude by Problem 31, or by Problem 30. | prefer the Tables of Decli-
nation.



208 THR ARCANA OF PRACTICAL PHILOSOPHY.

Kule 2—Find the A. It. of that longitude without latitude by the
Table of Right Ascension.

I{ule 3.__To the log. tangent of the Pole of the Ascendant, or lati-
tude of Birth, add the log. tangent of tire Declination of the Aspects:
the sum will be the log. sine of its Ascensional Difference.

Rule 4. Take this Ascensional Difference from the A. R. if the
declination be north, or add it thereto if the declination be south :
the result is the Oblique Ascension of the Aspect under the Pole of
the country.

Rule 5.—Subtract the Oblique Ascension of the aspect, anti the
remainder is the Arc of Direction-

EXAMPLE.

Direct the Ascendant to P| > in the zodiac.
The square of Saturn falls in ¢8° El 46', the declination of which is 23° 28', and

the It. A. 88°40".
To the log. tang, of Pole of Ist 'll0:12 = 0,09991."
Add log. tangent of Declination 23° 28' = 9,637611

tt gives log. sine of Ascensional Difference 33° 7' 9,737524

From the A. R. of the aspect 88° 40'
Taka the Asc. difference, the declination being North 33 7

It gives the Oblique Ascension of the aspect 55 33
From tins take Ohliquo Ascension of Ascendant 31 8

The Arc of Direction Ascendant Q 1j zodiac 21 25

EXERCISES.

The Ascendant to Aspects in the Zodiao.

Trine Jupiter falls in 16 11 57, this declination is 22 N. 52, its A. It. 75° 49'.

Sextile Mars falls in 17 11 58, this declination is 22 N. 59, its A. It. 76° 55'.

Sextile Venus falls in 26 11 35, this declination is 23 N. 28, its li. A. 86° 15"

Sextile Mercury falls in 8 23 15, this declination is 23 N. 16, its It. A. 99' 0 .

Opposition llerschel falls in 23 11 20, this declina. is 23 N .21, its It. A. 82° 44",

Proceed in this manner till nil the aspects, as above, are gathered
out, then find the tangent of all the declinations, which reserve for
easy reference in the computation.

PRO1I5LKM LXXVI.

131. To direct the M. C. toparallel of declination without
latitude.

Rute 1.—Tiiat place in the ecliptic must be found where the Sun
acquires the declination of the Star, cither north or south, to whose
parallel the M. C. is directed.

Rule 2.—Then, from this A. R. of the Sun subtract the A. R. ol the
M. C. for the Arc of Direction.
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